MAT 2705-03/04 s FiNALEXAM (V)

ST L2 0] (4 o4t
0 Y s ] o B'F= ¢ "N“A B4t <[ CMA
Xi - |- Xy
? [XJ ) [ Z-J[le * 1oncogﬂ\ 9= Agy ¥ E'F 9"’1: [—4 Yy -H‘tws“/’i
V\’p_‘—— N Y" Y2 + Tes 4+

%0 _ SX xw) . To
%@~ o) [xl'(o) - L’

y 0= [A-AT\= \2’” : \= 48 (245) =4
= 22413 +3C >x=-3£{13%4G0) =31 5

2. 2
._.,\;4) -9 = M))ﬂ 2 1<)

AT -4

A+4T = (-

U.‘I+‘{Bl = [4 ws4t
U+ Yy = T sdt

Yip= Csousdk +Cesnde
Yop= Cras4kt Cysinde

(~1e+4) (s (os4k s (smet) = 14 os 4t
~Cs= 14 , “12¢e=0
s= —7/¢ Yy= ~Tg Cx 4t
Yy + = Elet9) (CrustiiCpsintl) = T asat
~T¢y=¢1, (=0
Cr=al 9-.»(-- cos 4t

Yip+4Y =

. ¢
oys 2\ (-472 o t-%lf o]
2 ~S¥4 LZ‘\ - Ob =0
L

X271, 0=k Bﬁ\\ \/zk }

Y, = CosZk+ 0 sinlt — V¢ Cosdt \
h= Gusdtr esinPt — wstt

t=2" g= [A

; o
A+9I:’ {j8+9 2 =\; 2 — { 2 xl_[0
2 -Stg % o XJ'[

o
Xk x=-2k E< tu.— 'l EL(")]
Iy

, ) _ ZCﬂ: 5 G=0 Vo= 147= 13/t
— NN b, h‘[d)l.— B[3c1 [}’1 (g=0 G=~2+1= —\
= <(D\\b = l —'2
LB Z> {x\‘_: B{%wgu-%%%x { X( 1 (..(.5/5')
1 A\g BﬁlAB \; X2 ) — (53t — ws4t 2 ) /3
8" 5(43). ¢ T
~ = |
5021 :E es2t LX s3t Li\ 4+ (os 4k {."DI’A
"\achs"!es. (e-) 9"\.. ‘h"t N3
=[|3 13 cog 2+ 2 s B + %(oj{-t\\ agrees b3
m=2 _ _ w
m:.= -1 ‘;3 (st — (53 _g?cof 4 ) Mople

9 ¥=A%
= sy~ 37 A5 = [54) )

X=Bg

[X\ l_. B ('C( (gLt +€E,SINTE ~
Yol

/4 co;‘(el
Gk + gt — ws4t

xq: B [—-‘I.Clglnl{’&’lc,_asu + (4/3:»«;41

=3 M3t £3G stk + Fon A

37908, 852 )

Ui = %ch’c, VY= = (s 3t

b2 m ¢ SC’(O)=<§,O>=FB|"Z_G-2
S/ Gy = <2

exacty rnght
"Zb),

NO\’Q i

%" =-9y,

Y’==4y), 9/44y;=0 — um -ﬁ\qsc\@si’-iﬂzsmz* I

. _ .
Y2+9y,0 — W=31 (Y= Czaer 3+ a3k |

Y= —dcogz&—- — (o5 4
Y= — sk ~ C"S‘H:

;Zt B G C‘ﬁ?i\(z S)hl‘b‘x

X)) =
C3 (5383 C4 M3t

BRHNE
X'=B tzc\mzlznoz ws2t
~3C5\W3ka3 Cq o5 3t

7’/0)=8 2%? Eq {

g (=41, 2]8)= (4]

'7 Cl =0
=0

- [ccs%

= cog2t [Il 2 ©¢3k A Lcos2t+4cos3’c

~Leos 3t

_ X\ lagrees
Ma?lc .

—



MAT 2705-03/04 (IS FINAL EXAM (2)

)  Y,< %—(7(052&-&3!:42\'} — (‘%)%>
Yzh= _le(ccosat—«fsna,asc)-—» <&, 4y

ey e
A‘: -é-"ﬁr?‘: \r%—&;\: .270
S\ = archlun _él_z 0,405 = 23,2° | 23°

S.=—archin %:— arc‘rm:?-g X -0.588% ~-337°

o 3
,;0\9‘33
$i-8, = arclon %—l-arc‘bﬂf‘g = orclun %g-_ ~ 56.9° 57°
= S S - S
G fong+8) = twnairteaB - EZ4 % 23 93 tungent sum
| —tano tan@ [— %% 5/7 ‘ fomula

S,-SL—J o+B= qrc\'qn% N

Al {58/¢ G

_= — 1 - S .

A 3/3 —ig%‘ 20 l.o5¢e nearly same amphtudes —
about Vi cucte eut of phase



